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Strike while the iron is hot. Find appropriate meaning.
~ (%) Time and tide waits for no one. " (R) Rome was not built in a day.
(2) Make hay while the sunshines. (¥) Sow the wind and reap the whirlwind.
Franceis......European country.
(2) a () sy (3) the (¥) no articel
-Find odd man out. '
(2) Team (?) Bougquet (3) Herd (¥) Children
Whic,h- one of the following is not a plural noun? _ .
(2) Mice (R) Cattle (3) Oxen - (¥) Goose
Choose correct plural form of CRITERION.
(%) Criteques (R) Criterious (3) Criterias (¥) Criteria
The plural of halfis...... _
(%) Hulf (?) Halves ~ (3)Halfs (¥) Halfes
I tell my wifeall ...... happens in my college. ;
(%) which () what (3) that (¥) whatever
One should be proud of ...... motherland.
(%) his (R) ones : (3) ones - (¥) once
...... have bicycles. . _ >
(2) No one (R) someone () everybody ~  (¥) few

Pick out the wrong adjective. .
(%) Father-Paternal . (R) Brother-Fraternal
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This was the reason...... he could not complete his work.

(2) Which (R) Why (3) where (¥) how

I prefer tea...... coffee. Choose the correct word.

(2) to (R) for (3) very (¥) too

We could neither play...... work. Choose the correct word.

(2) Not () nor - (3) none (¥) .no

Find the correct spelling. .

(2) Comity (?) Commity (3) Committee (¥) Commiti

Choose the correct alternative to change the voice.
People have seen wolves in the streets.
(2) People have been seen by wolves in the streets.

(R) People are being seen by wolves in the streets.
() Wolves are being seen by people in the street.
(¥) Wolves have been seen by people in the streets.

She always lives in a fools paradise. The most correct meaning of a fools paradise

(%) Paradise ofidiots (R) tolive in the past

(3) tolive in illusions (¥) to have happy dreams.

Mumbai is the biggest city in india. Change degree.
(2) All cities in India are as big as Mumbai is.

(R) A fewer cities in India are as big as Mumbai is.

(3) No other city in India is as Mumbai is.

(¥) India has no less cities as big Mumbai is.

Choose the correct synonym - Triumph.
(2) Success (R) Failure (3) Ruin (¥) Calm.

Choose the correct Antonym - Eternal.
(2) External (?) Internal (3) Temporal (¥) Profound
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